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Mental Alility 1

Group Number : 1
Group Id : 545927321
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability 1
Section Id : 545027321
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927385
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459276465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the giver words in the sequence in which they oCcur in the dicticnary.

1. Demanding
Z. Dermocracy
2. Demystify
4. Dernarcate
5. Decorate

Options:

1. % 54123
2. % 523214
3. ¥ 51423

4 % 52341

Question Number : 1 Question Id : 5459276465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrafeTET deaf ot degwte § o7 o0 #7 & SRfaR ford

1. Demanding
2. Dermnocracy
2. Demystify
4, Dermarcate
5. Decorate

Options:

1. % 54123
2. % 523214
3. ¥ 51423

4 % 52341

Question Number : 2 Question Id : 5459276466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T SIRH Too T g, e & uw ug i 71 o et | & ag agt fEwed g, S Srgews O
ABC EFG, IJE, ¥, QRS

Options:
1. % MINOD

2. % MNP
3% LMN
4 % KLM



Question Number : 2 Question Id : 5459276466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& series is given with one term rmissing. Select the correct alternative from the given ones that will complete the

SETieS.

ABC, EFG, IJK, 7, QRS
Options:

1.9 MNO

2. % MNP

2% LMN

4. % KLM

Question Number : 3 Question Id : 5459276467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e STgeRH T T B, e 6 ue ug Tea 81 fau M et § 39 e 0 g

MHCW, PEFT, REIC, ¥VYLI
Options:

1. % MHCW

2. % PEFT

3% VYLW

4. ¥ REIQ

Question Number : 3 Question Id : 5459276467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& Series 15 given with one term wrong. select that wrorg term from the given alternatives,

MHCW, FEFT, REIQ, VYL
Options:

1. % MHCW

2. % PEFT

2% VYLW

4. ¥ RBIZ

Question Number : 4 Question Id : 5459276468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:

1. % WS
z ¥ GDBE
2. % RFN
4. % MEKI

Question Number : 4 Question Id : 5459276468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e we § o Ty et # & Euw ara) st @t g
Options:

1. % wus

2. ¥ GDE

3. ¥ RPN

4. % MKI

Question Number : 5 Question Id : 5459276469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the odd word from the given alternatives.

Options:

1. ¥ Chess
2. % (Cricket
=. % Hockevy
4. % Football

Question Number : 5 Question Id : 5459276469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gt wa & fuy o et & @ R e wr afm
Options:

1. ¢ gai+

2 % Tphe

3. % FThT

"

4. % mEEa

Question Number : 6 Question Id : 5459276470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letter pairs are given. The letters on left side of (-) is related to the letters on the
right side of (-) with some Logic |Rule|Relation. Three are sirrilar on basis of same Logic/Rule [Relation. Select
the odd one out from the given alternatives.

Options:

1. % AECD - FGHI
2. % NPRT - SUVY
2% [JEL - NOPO
4 % RETU - WHYZ

Question Number : 6 Question Id : 5459276470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Ta T ey, T SrgR g T MY () o STt S e T A () a%azﬁaﬁvﬁﬁﬂﬁrmmﬁﬁﬂﬁa?ﬁﬁamm@r
ﬂaﬁ]ﬁ%aﬁqaﬁwﬁfﬁaﬂm%WWW%ﬁﬁqwﬁﬂrﬁﬁﬁﬁm SiEw

Options:
1. % ABCD - FGHI

2. ¥ MNPRT - SUVY
3. % [JKL - NOPZ
4 % RSTU - WHYZ



Question Number : 7 Question Id : 5459276471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word pair from the given alternatives.

Erase : Rubber ;0 7
Options:

1. % Pen : Write
2. % Cut: Pencil
3. ¥ Eat: Spoon
4. % Clock : Time

Question Number : 7 Question Id : 5459276471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafere wa | o oy ferpet # & Heildd g g @1 g

AT s o 7
Options:
1. ® wow : o

= R greqar uiee
3% 9T O
4, % T AEg

Question Number : 8 Question Id : 5459276472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the related words from the given alternatives.

Cloclk : Time o Therrmometer : 7
Options:
1. # Heat

2. % Radiation
2. % Energy

4 ¥ Termnperature

Question Number : 8 Question Id : 5459276472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FaimET vg | o my Hwedt f & Feti gegl ®f gm
el gAY dATHRET ;7

Options:

1. % ZFrAr

2 ® e

3 8 =

4. & qUAE

Question Number : 9 Question Id : 5459276473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related letters from the given alternatives.

EFvVA  PUAF . BGLZ . 7
Options:

1. % GLOV

2. % MREWC

2% LGYVO

4 % BGLO

Question Number : 9 Question Id : 5459276473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET vg | o my Hwedt o & Fete Rt wf g

EPWA  PUAF - BGLD . 7
Options:

1.9 GLOV

2. % MREWC

2% LGYVO

4 % BGLO

Question Number : 10 Question Id : 5459276474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inl a certain code language, 'BAEY 15 called as ‘BELACE', 'BLACK' 15 called as 'RELY, 'REDY is called as "CAKE',
"CAKE 15 called as "TAELE', 'TAELE' is called as 'EYES". What do we eat?

Options:

1. ¥ TAELE
2. % EYES
2. % RED
4 % CZAKE

Question Number : 10 Question Id : 5459276474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT wE I H, AT FCWAT ST AGT s, FAT B AT WET AGT 5, AT FWE wEl AT 5, e @ oA T AET

Options:
1. ¢ &

o %
. ® e
4 ® Fw

Question Number : 11 Question Id : 5459276475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, "CAKE' is written as "100°, ‘GLOW is writtenl as "285'. What is the code for ‘BACK
in1 that code larnguage?

Options:



1. ¥ 35
2. % 105
3. % 95
4 % 75

Question Number : 11 Question Id : 5459276475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T fatde Wi vy # CAKE #1100 SR IET §, (GLOW W 285 o AT 81 59 @iE I H BACK T IS F4T 57

Options:
1. ¥ 85
2. % 105
3% 495
4 % 75

Question Number : 12 Question Id : 5459276476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘TABLES' is writtenl as ‘SELEAT. What is the code for ‘CHAIRS' in that code
language?

Options:

1. * SCHAIR
2. % SREICHA
3. ¥ SRIAHC
4 % SRIHAC

Question Number : 12 Question Id : 5459276476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T fatde wig ymr # TAELES' &1 'SELEAT TRar I@T 81 56 &g v # 'CHAIRS &7 &g o747 57

Options:

1. % SCHAIR
2. % SRICHA
3. ¥ SRIAHC

4. % SRIHAC

Question Number : 13 Question Id : 5459276477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six persons &, B, C, D, E and F are sitting around a circle facing towards the center. Only F is between B and D,
Only E is between C and A. Cis to the immediate right of B. Who is the neighbour of both A and F?

Options:
1. % E
2. %
3. ¥ D
4 % E

Question Number : 13 Question Id : 5459276477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
T e A, B, C, D, E 3 F &g &1 &7 §F 90k U el F (6, - Mg ad 81 B oW D Fafid el F g1 C 3T A & &ffd Fad E &,
C, B & qid ol AR g1 A A F giHf #TUSiEl 19 27

Options:
1. % E
RS
VD
4 % E

Question Number : 14 Question Id : 5459276478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

F, 3 R, 5 T, Uand ¥V are seven bovs. Height of Uand ¥V are equal. P is shorter than & but taller than B 5 is
shorter than P but taller than E. T is shorter than O but taller than P U is taller than . How many boys are
taller than FY

Options:
1. %2
2. %5
=% 3
4 ¥ 4

Question Number : 14 Question Id : 5459276478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
P,ORS T UMRVATASH g UMY T 3aE el I P, Q A FeTs, AR @181 5, P FFeT s, AT B & &= 21
T, QA TFRTE, dlETP A darT g U, O & 77 81 P & fooa Ai2ar 7ial 27

Options:
1. % 2
2. %5
3% 3
4 ¥ 4

Question Number : 15 Question Id : 5459276479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a group of five girls, Komal is the shortest while Lisa is the tallest. Rohini is taller than Komal but shorter
than Veena. Friva is second shortest person girl in the group. Who is the second tallest girl of the group?

Options:

1. ¥ Veena
2. % Rohini
2. % Priva

4 % Lisa

Question Number : 15 Question Id : 5459276479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Uid Al & U A B A Gad g1eT 8, Aaid o] Terd well 21 TR0 B0 9 Fell g olfer oo & grar 21 e amg &t
Options:

1. o




2. % Fifgolt
3. ® U
4 % forr

Question Number : 16 Question Id : 5459276480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sixpersons P, @ R, 5, T and U are sitting around a circular table facing towards the centre. P is third from 1.
Cnly Uis betweeen 5 and Q. R is to the immediate left of . Which of the following statermnent(s) is/are correct?

. T is sitting to the immediate left of 5.

II. < is not sitting to the immediate left of 11
III. R is sitting to the immediate left of P.

[V, P is not sitting to the immediate left of T.

Options:

1. ® land Il
2. ¥ Only IV
2% Only I
4 % [l and IV

Question Number : 16 Question Id : 5459276480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TN P, Q R, 5, T & U UF qaeR O & 15g - Mg drg dl A @ Ak 48 g P, US TR0 81 § e Q Faia H daa U 3
R, Q % qid a8 o) g1 FeieiEs o § @19 a1 @07 951 2187

I.T, S & qid =8 9K a7 21
11, U o T4 o185 81X 51 «1a7 8l
III. R, P & q&d a8 41T =131 81
IV. P, T & qid 212 & 51 dar &l
Options:

1 % 1aR1l

o FaA IV

3 % FEdlll

4 I &IV

Question Number : 17 Question Id : 5459276481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

51,52, 53, 54, 55, 56 and 57 are seven students, 56 15 taller than 55 but shorter than 54, 52 and 52 are
shorter than S1. 55 is shorter than 53 but taller than 52 52 is the shortest among thern. 57 is shorter than 55.
How many students are taller than 557

Options:
1. % 2
2. v 4
3. %5
4 % 2

Question Number : 17 Question Id : 5459276481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



51,52, 53, 54, 55, 56 R S7 AT 1T 8 56, 55 H oFaT & oiiehT 54 A FET2 SETTATS2, S1 T T H 55, 55 FFIET 5 #Afep
52 AT R 52 590 @9 #1215 57, 55 T FeT 8 a3 55 & v 57

Options:
1. % 32
= ¥ 4
3% 5
4 ® 2

Question Number : 18 Question Id : 5459276482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questicon below are given some statermnents followed by some conclusions based on those
staternents. Taking the given staternents to be true even if they seerm to be at variance from cormmonly knowr
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staternents:
[. Some pens are tables.
II. Some tables are chairs.

ConclusSions:
[. All tables are pens.
I1. Sormne pens are chairs.

Options:

1. % Cnly conclusion I follow

2. % Only conclusion 11 follow

2. % Both conclusion I and I follow

4. % MNeither conclusion follow

Question Number : 18 Question Id : 5459276482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tem My we | g @ o 3 g, 31 el O AT g ey fou Ty @ fag T @t @t |ny v, EI'I%G'HﬁETH‘ITE‘IH’
Fert & TrgaT g &t Tomand o offv T Frerfior o 7 Tam o @19 & Tomars, o g et o srmere o geaTa B

E2uEh
I FF Tl 07

1. fﬁ:‘ﬁ?@ﬁ?‘f%’]

ELza

1. T # FoH B

I1. FF Feld el gl

Options:

1. % crerel Tepd 1 STeRoT a3l

2. % o Tma 11 SIgER FaT gl

3. % AT e | FTI STER FW )

4. 1 A7 gt argewor 95! w8l

Question Number : 19 Question Id : 5459276483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Statermnents:

[. All chairs are pens.
II. Sormne pens are cups.
ITI. All cups are pencils.

COnclusions:

[. Some pencils are pens.
II. &l pencils are chairs.
III. All chairs are Cups.

Options:

1. * Only conclusion I follow

= ¥ Cnly conclusion 1 follow

2. % EBoth conclusion I and IIT follow

<4 % Both conclusion I and IT follow

Question Number : 19 Question Id : 5459276483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t Tem My wer g w39 ag, 3 el T AT sy o T 9 T T et @Rt 6, T 99 9 A
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CRupk
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Options:

1. % el Tsepd 11 STEoT ®idr 5l

2. e T 1 SIgER war gl

3. % g1 TmeRy 11 T2 111 Srgee @ gl
4 % At Tmey [ 2T SgE a7 o)

Question Number : 20 Question Id : 5459276484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If ‘& means '+, ‘B means "»', 'C' means '+ and D’ means -, then 12 A 4EED2E27 A9 =7
Options:

1. % 24

2. % 16

2. ¥ 18

4 % 12

Question Number : 20 Question Id : 5459276484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 24
2. % 16
3. ¥ 18
4 % 12

Mental Ability2
Group Number : 2
Group Id: 545927322
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Abilitye
Section Id : 545927322
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927386
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459276485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (=) is related to the number
of the right side of {-) with some Logic/Rule [Relation. Three are sirmilar on basis of same Logic /Rule [Relation.
Select the odd one out from the given alternatives.

Options:

1. % 26 -677
2. % 38-1445
2% 54 - 4087
4. % 52 - 2707



Question Number : 21 Question Id : 5459276485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Tam T W, =T EEaT g T T 1 (-) o S ST S TS S (- jﬁ?atﬁaﬁfé’rﬂﬁﬂwﬁﬁﬁrﬁ;ﬁaﬁ el & Hateg
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Options:

1. % 26 -677
2. % 28 - 1445
2% B4 - 4087

4. ¥ 52 - 2707

Question Number : 22 Question Id : 5459276486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

2,8 18,32, 50,7
Options:
1. % B8
= W72
3% T8
4 % 24

Question Number : 22 Question Id : 5459276486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT ey # 21 T SfeT H & o S S R
2,8, 18, 32, 50,7

Options:

1. % g8

e 72

3% 78

4 % 24

Question Number : 23 Question Id : 5459276487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

124512 247 .7
Options:
1. % 1479

2. ¥ 2197
3% 2395
4 % 1593

Question Number : 23 Question Id : 5459276487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TafetET na § for My et & & deidd d@ear @t g

134 : 512 .. 247 .7
Options:

1. % 1479

2. ¥ 2197

I % 2345

4 % 1593

Question Number : 24 Question Id : 5459276488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

4,10, 33, 136, 7
Options:

1. % 578

2. % 475

3. % 232

4 ¥ BES

Question Number : 24 Question Id : 5459276488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Traferfae wey # 1 e sger # & o ofw A FiRm

4,10, 33, 136, 7
Options:

1. % 578

2. % 475

= % 232

4 ¥ BES

Question Number : 25 Question Id : 5459276489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 'F means '+, "0 means -, ‘B means ¥ and ‘S means ‘<, then 17 Q2R 4585 16P 12018 =7
Options:

1. %8

z v 2

3% 12

4 % ]

Question Number : 25 Question Id : 5459276489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o P owT el +, O owmranf -, R wTarf o mrs #apf - §L dT1F QIR 485 16P 12 Q 18 = 7
Options:

1. 8 3

2.2



3. % 12
4 % 1

Question Number : 26 Question Id : 5459276490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the number which can be placed at the sign of question mark (7) from the
giverl alternatives.

10 | 4 6 | 25 15 (40
8 | 120 16| 246 12 | ?

Options:

1. % 3260
2 ¥ 780
2% 420
4. % 260

Question Number : 26 Question Id : 5459276490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT na 8 for my et # & weg v (7) 3F S99 U oI TR ST w g

10 | 4 6 | 25 15 (40
8 | 120 16| 246 12 | 2

Options:

1. % 3260
2 ¥ 780
2% 420
4. % 260

Question Number : 27 Question Id : 5459276491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

426576 3787
Options:

1. % g32

2w TTE

3. ¥ 2024

4. % 2996

Question Number : 27 Question Id : 5459276491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt we # fau 0 feeweut # 4 Heldd g w i g

426 BE7E . 2FE Y
Options:



1. ® 632
2. % 778
3. ¥ 3024
4 % 2996

Question Number : 28 Question Id : 5459276492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (- is related to the number
of the right side of {-) with some Logic/Rule [Relation. Three are sirmilar on basis of same Logic /Rule [Relation.
Select the odd one out from the given alternatives.

Options:

1. % 12-1728
2. % 27 - 19683
2. % 36 - 46656

4. ¥ 21 - 9481

Question Number : 28 Question Id : 5459276492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Tam T e, S HET g T T 1 (-) 3 S ST S TS S (- jﬁs‘aﬂaﬁfﬁﬂ?ﬂwﬁﬁﬁeﬁﬁrw Harel & Ha e
21 T FET e dok ) Terom | HaleT & ST oY 9aT g Ty ™y Heedt o & fEuy wt g

Options:
1. % 12 -1728

2% 27 - 19683
2% 26 - 46656
4. ¥ 21 - 9481

Question Number : 29 Question Id : 5459276493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T A*E=(A+EaA-B) 8 a2 7 *(11*8) =7

Options:

1. % BE7E
2. % 3989
2% 4376
4 ¥ 5776

Question Number : 29 Question Id : 5459276493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If&4*E =& +B)A-E), then(12*7)*{11*8) =7

Options:
1. # 5E7E

2. % 3989
2% 4376
4. ¥ 5778



Question Number : 30 Question Id : 5459276494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

EBody, Eve, Retina
Options:

@
(©o

2 %
QD

3%

| ©

Question Number : 30 Question Id : 5459276494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

% W -7 AT Al T T A o S o Helel W @Rl -0 AT A

S, ST, LA | A0
Options:

@
(©o




Question Number : 31 Question Id : 5459276495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure, Doctors who are musician and players but not dancers are indicated by which letter.

Dancers

|

Doctors

Players . s
. Musicians

Options:
1. %]
2 %
3. v h
4 %

Question Number : 31 Question Id : 5459276495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TE ATEId H AT SToed TTeT o FEATST § st Ad @ A5 l, I 1o T8 & Sty mar &7

Options:
1. %]
2 %
3. v h
4 %

Question Number : 32 Question Id : 5459276496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sunil goes 12 lan towards east and then he goes 10 lan towards north. He again goes 12 lan towards east.
Wwhat is the straight line distance between final point and initial point?

Options:
1. % 26 km



2. % 28 km
3. % 24km
4. % 20km

Question Number : 32 Question Id : 5459276496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

12 Fop 1 e 1 aite ST 2 ot e g 10 T, S 1 o ST B g U 12 R ah o o it o 1 affee g e
%%%mﬁ%ﬁ%ﬁﬁgﬁw%’? . ® =

Options:

1. % 26 fp ot
2. % 28 TR
3. % 24 TR
4. % 20 WA

Question Number : 33 Question Id : 5459276497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Shashwat goes 15 metres towards south from a point P and then after turning to left he goes 8 metres. He
again turns left and goes 20 metres. How far and in which direction is he now from his starting point?

Options:

1. % 15 metres, South-east
2. % 17 metres, North-east
3. % 17 metres, North—west

4. % 15 metres, North-east

Question Number : 33 Question Id : 5459276497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

APET U Teig P | 15 HIET SIg0T &1 27 ST & o 107 a1 1% Go@d a5 & HieC AT ol a5 O o4 G2dT & 9207 30 HiEt Sar 21
emagamﬁrﬁgmﬁtﬁﬁgﬁﬁm:ﬁgeﬁrﬁm%mﬁ%? e

Options:

1. % 15 diex, gigm-ge
2 ¥ 17 Hiex, FW-1d
3. ® 17 dfet, IW-TREaE
4 % 15 Wlew, FW-1d

Question Number : 34 Question Id : 5459276498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

= [ [ | [5] [52

i [] o 0
o o o0 - o o

=]

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:



Question Number : 34 Question Id : 5459276498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v | oy my fEwedt § & v T (7) & T T S ATt s e

L LN B ™

R | ] N ] P
- [:] (-]

[=] oo [- - - o 0 0

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:




Question Number : 35 Question Id : 5459276499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be placed at the sign of question mark (7) from the given
alternatives.

AbbAA Y YY) F-Y.-¥.1 i
——H| [—+H

o [ ] ] [sLs]a] alalalalsl

Options:

Ak
—H

% L1 1 1)

AT

® EEEE

z % EEeR

FyYy

4 &

Question Number : 35 Question Id : 5459276499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v | oy my fEwedt § & v T (7) & T T S ATt s e

LAbAAL | |Akdk FY.¥ A
—] | | | | 9 +HHH
o (1] ooo 00000
Options:

FyY

—-+H

1 % Ll L1

AT




® EEeR

FYy

4. L 1 1]

Question Number : 36 Question Id : 5459276500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In the following question, select the wrong figure from the given series.

MNE|| A e

Options:

BN
£
A

Question Number : 36 Question Id : 5459276500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T wg & 31 T siEe # 9 AT i 1 g

MNTE|| A IR

Options:




o W

b
£y
A

Question Number : 37 Question Id : 5459276501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

?
Options:
1.9 (
o %

L~
3 % /




Question Number : 37 Question Id : 5459276501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT e AT o AT BT T Hl?

?
Options:
1.9 (
o ®

L~
3 % /

Question Number : 38 Question Id : 5459276502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

Options:

z.ﬁk




vl

4 ® /

Question Number : 38 Question Id : 5459276502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
I H IO ATFIT T AT o W B T B 7

Options:

Nz

4 ® /

Question Number : 39 Question Id : 5459276503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.




Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

X

Question Number : 39 Question Id : 5459276503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TTE IO T # 99 IR AT w1 gy e # n ey BT

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

K




Question Number : 40 Question Id : 5459276504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure 15 hidden jermbeddad.

Options:

Question Number : 40 Question Id : 5459276504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TTE IO T # 99 IR AT w1 gy e # n ey BT

Options:




Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Gereral Avwarenessl

3
545927323
0

0
No
No
0
20
Yes
0

0

General Awarenessl

Section Id : 545927323

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027387
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459276505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jawmra dance 15 related to ______

Options:



1. #® Andhra Pradesh
= % Maharashtra

2. ¥ Madhva Pradesh
4. % Karnatala

Question Number : 41 Question Id : 5459276505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TART T ______ T H ST gl Bl
Options:

1. % amerods

2. % W

3. o ey

4 ® gefow

Question Number : 42 Question Id : 5459276506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Hill Falace Museurr is located in

Options:

1. ¥ Kerala

= % Maharastra

3. % Uttarakhand

4. % Himachal Pradesh

Question Number : 42 Question Id : 5459276506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A e AT ______ AT G
Options:

1 &
E.QW
S ¥ FTEE

4, % TEHER 0L

Question Number : 43 Question Id : 5459276507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ambubachi mela is a festival of which state?

Options:

1. ® Gujarat
=z ¥ Assam
3. % Sikldm

4 % Mizoram

Question Number : 43 Question Id : 5459276507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STt HAT T T3 T U TR &7



Options:

1. % TIT
= ¥ @A

3. % faige
4. ® TeEA

Question Number : 44 Question Id : 5459276508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pair of Musician - Instrument is NOT correct?

Options:

1. % Ravi Shankar - Sitar

2. % Shiv Kurmar Sharma - Bansuri
3. # Zakir Hussain - Tabla

4. % Bisrmillah Khan - Shehnai

Question Number : 44 Question Id : 5459276508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafaT & & Siaw - ST @7 9 a1 I T51 a5 87
Options:

1. ¥ idgee - fEw

o T g ot - aiga

3. ¥ I A - Ta

4 ® REEHEATaEr - g

Question Number : 45 Question Id : 5459276509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ iz the rate of interest cormumercial banks have to pay to REI if they borrow money from it in case of
shortage of reserves.

Options:

1. ¥ Eank Rate

2. % Cash Reserve Ratio

2. % Statutory Liquidity Ratio
4. % Money Rate

Question Number : 45 Question Id : 5459276509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ as?ﬁa?%q“rm%ﬁmﬁmﬂmmﬁmﬁﬂﬁﬁﬁwmﬁﬁwaﬁaﬁﬂmm%aﬁw
FOAT U= dT

Options:

1. v dFax

2 % RIET Fwe! Wi emuT
3. % Hifee T T ST
4. % Hiigw gx



Question Number : 46 Question Id : 5459276510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FoT aae 2019 B, S 3 o § T2 -7 @i Wicdlled @i o (6]

Options:

1. ® ROl &%
2 % TRETREET @
3 ® mEeE @
4 & TS w

Question Number : 46 Question Id : 5459276510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 Union Budget 2019, the government easad

Options:
1. ® Corporate tax

______ to ercourage start-ups in the country.

Z % Luxury tax
3. ¥ Entertainrment tax
4 ¥ Angel Tax

Question Number : 47 Question Id : 5459276511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fiscal Policy creates a surplus whien total

Options:
1. ¥ Receipts exceed expenditure

2. % Expenditure exceeds receipts
3. % Expenditure and total receipts rermain same

4 & Feceipts and total experditure becorme too 1855

Question Number : 47 Question Id : 5459276511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pl ______ B TR IR Y A1Td e T8 s 1 8l

Options:

1. & uieriens # arfée

2. ® oo riEat & arfier

3. % T ST ge wiHal qH
4. % orfEt sfIC e =0 apd @

Question Number : 48 Question Id : 5459276512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
OTarge juice Contains ______ acid due 1o which it tastes sour,

Options:

1. % acetic
2. % forrmic
3. ¥ citric

4 % oxalic



Question Number : 48 Question Id : 5459276512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qaeHFEH ST BT & Forer HTR0T SEaT T g1 51aT o)

Options:
1. ® ghafs
2. ® mIiHE

3. ¥ AERE
4 % siferTicie

Question Number : 49 Question Id : 5459276513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct staternent.

I Rayorn is also knowr as Artificial sillke

II. Rayon and silk are natural fibres.

III. Rayon and Nylon are man - made fibres.
IV, MNylon is a man - made fibre.

Options:

1. ¥ landll

Z % LandIII

3 ¥ and IV

4. % only 1V

Question Number : 49 Question Id : 5459276513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

EHEREEE

1. Y19 F A oA & = § A FEr AT 8
I1. T 371 orm wTiar e ¥4 3

I11. ¥ 3% ATE AT A AT & 8

IV, ATEAT e AT 0 CaT 31

Options:

1. % 134Tl

= % 1 99Tl
39 Ty
4 % FaAlv

Question Number : 50 Question Id : 5459276514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
nitis ______.
Options:

1. % the unknown quantity which is measured

2. % the unknown quantity with respect to which something is measured
2. % method of measurerment

4. # amournt of measurement



Question Number : 50 Question Id : 5459276514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

1. # 7T i & e AT ST 8

2 & ardnd Uldr g Ee el o @ /T ST 2
%, % [ & T

4. % g FAET A

Question Number : 51 Question Id : 5459276515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is formed by mixing iron with carbon, nickel and zinc?

Options:

1. % German silver
Z ¥ Stainless steel
3. % Steeal

4. % Brorze

Question Number : 51 Question Id : 5459276515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET # & T Ay F A, e, 3 e & | WA aeaT 57

Options:
1. % A7 raw

2 ¥ TaRg A
3 ® oo
4 ® e

Question Number : 52 Question Id : 5459276516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT 15 a solution in which the suspendad particles are liquid droplets and the continuous phase 15 also g
liquid. (The two phases are irrrrnscible)
Options:

1. ® Agolomerate
= ® Asrosol
3. % Gel

4. % FErnulsion

Question Number : 52 Question Id : 5459276516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25 _
______ e feme & e Feted @07 g o &, S |aq wrae of 0w g 81 (g1 wTeem arftmuite 8

Options:

1. % GodTaATad (STeATE
2 % T

3 R S



4. % Mg (SH)

Question Number : 53 Question Id : 5459276517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following organisms has a Prokaryotic cell?

Options:

1. * ¥irus

2. % Protozoa

2. ¥ Elue green algas
4. % Rhizopus

Question Number : 53 Question Id : 5459276517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafofaT o & o Site o mrefenttee ot gt 27

Options:

1. % femm

o, ® it (M)
= IR - e

4. % IEAOH

Question Number : 54 Question Id : 5459276518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ervophvllur, reproduces by

Options:

1. ¥ vegetative propagation
2. % budding

2. #* fragmentation

4. % spore formation

Question Number : 54 Question Id : 5459276518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
CIEIE T T AT TEAT 2l

Options:
1. ¥ T nada

EHW
2 % @z

4. % ToRT] HHME

Question Number : 55 Question Id : 5459276519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Endocrine glands are

[. Duct glands
I[1. Ductless glands

Options:



1. % Only 1

= ¥ Only 11

3. % BothIandII
4. % MNeither I nor II

Question Number : 55 Question Id : 5459276519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1. AfeeT HiEET _
I1. AfFT - REA wiEmT

Options:

1. % aal

2. ¥ Fadll

= % [ gurll FEt
4, % Ul ATaril

Question Number : 56 Question Id : 5459276520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is also called “Slash and Burn’ agriculture?

Options:

1. #® Plantation Agriculture

2. ® Primitive Subsistence Agriculture
3. % Intensive Subsistence Agriculture

4. % Shifting Cultivation

Question Number : 56 Question Id : 5459276520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRt o & B et ofie o it oft wgT ST 8
Options:

1% For g

2 % SrieH Affdw Fy

3 % T SR B

4. ¥ T FY

Question Number : 57 Question Id : 5459276521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Migrants who move into a new place are called

Options:

1. ® Emigrants
Z ¥ Irurigrants
% % Displaced
4 % sheltered



Question Number : 57 Question Id : 5459276521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AT 0T AT A6 WaTreat & ______ TET AT &1

Options:

1. % Feagmt
2 o aamT
3 % TEmTiT
4 % i

Question Number : 58 Question Id : 5459276522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& laver of s0il which lies more or less parallel to the surface and has fairly distinctive soil properties is knowr
a3

Options:

1. % Soil Horizon
= % Bedrock

2. # Hurmus

4. % Exfoliation

Question Number : 58 Question Id : 5459276522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSt &1 U TR AT AT G @ GHHEE S id 1 5 S SEl gaT & e et B 39 o AT & AT AT 5

Options:

1. garaea]
2 ® o=F
3% g

4 % e

Question Number : 59 Question Id : 5459276523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a residual mountain?

Options:

1. % Aravallis

= % Himalayas

2. # Rajmahal Hills
4. % Nilgiri Hills

Question Number : 59 Question Id : 5459276523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgieET § & @ 9T STidE 0 A5 57

Options:
1. ¥ aRradt

2. o Ay
3. ® TTAHEA URTS Al



4, ® JiAfRT ugTIE AT

Question Number : 60 Question Id : 5459276524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following state shares border with MNepal?

Options:

1. ® Tripura

2. % Gujarat

3. ¥ Ittar Pradesh

4. % Telangana

Question Number : 60 Question Id : 5459276524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrraieaT # & W A7 T "7 o AT HHT T HaT 57

Options:
1. % fag
2. ® T
3. ¥ FAT U
4 % e
rereral Awarenesse
Group Number : 4
Group Id : 545927324
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awareresss
Section Id : 545927324
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 545927388
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459276525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the main factors for migration in India?

. Poverty
II. Healthcare
ITI. Education

Options:

1. ®¥ landll

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 61 Question Id : 5459276525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WA | FAITOTE (WaTe) & T FHE Fa7 87

1. T
11, ey &@ar
111, fatam

Options:
1. % I d9mll

2% 1 qET Il
Z% [ FuTlll
4 % 11 qerlll

Question Number : 62 Question Id : 5459276526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Harmika’, a balcony-like structure that represented the abode of God was part of which architecture?

Options:

1. # Mughal
2. % Jainism
2. % Buddhist

4. % Maurvan

Question Number : 62 Question Id : 5459276526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“EUHERT , T HTlivg ST ST A7 ATaT & WeTd & gdiaT &, e aregmar o1 fpear 7
Options:

1. % gme

2 ® 39 od

3 v dhg

4 ® o



Question Number : 63 Question Id : 5459276527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who gave the slogan of ‘Do or Die'?

Options:

1. % Mahatma Gandhi

Z % Subhash Chandra Bose
3. % Bal Gangadhar Tilak

4. % EBhagat Singh

Question Number : 63 Question Id : 5459276527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AT WL T ART e T a7

Options:

1. & TgTeAT TITeft

2 % gum g
Z, % g TR i Aw
4, % g g

Question Number : 64 Question Id : 5459276528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following material was used during Harappan Civilization?

[. Flastic
II. Teracotta
III. Fubber

Options:

1.9 Only 11
2. % Cnly 111
2. % [TandIll

4 % [andIl

Question Number : 64 Question Id : 5459276528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrrafereT & & Tomr STl &7 SUT SSTAT @aT o S TR T 477

[, THTER
I[. 3TRIET
1. wa

Options:
1. ¢ daa Il

= % FEd Il
=% 1 gl
4 % 1 FuTll

Question Number : 65 Question Id : 5459276529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Who set up Home Fule League in April 19167

Options:

1. % Savitribai Phule
2. # Laxmi Sehgal
3. ¥ Annie Besant

4. # Sarojini Maidu

Question Number : 65 Question Id : 5459276529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S 1916 H I & ST @ ST Torae T 2417

Options:

1. % mied g
2. % At g
3. ¥ THTEET

4 % FIFET AEg

Question Number : 66 Question Id : 5459276530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Hoysala dynasty was associated with which state?

Options:

1. % Gujarat

2. % Madhva Pradesh
3. ¥ Karnatalka

4. % Tarnil Madu

Question Number : 66 Question Id : 5459276530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SIIETA TGS e T & Hralad or?

Options:

1. % TR
. % mrues
3 ¥ FleE

4 % FHFAAZ

Question Number : 67 Question Id : 5459276531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The First Battle of Tarain was fought between Moharmmad Ghori and

Options:

1. % Rana Fratap Singh
2. % Jai Singh

3. ¥ Prithviraj Chauhan

4. # Maharaja Hari Singh



Question Number : 67 Question Id : 5459276531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TXTE BT UEHT Gag Hgere 1T 31T ______ T =T ST T 2
Options:

1. % o v g

o % JoTE

3. godie AR

4. ® gERETE e

Question Number : 68 Question Id : 5459276532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mational Doctor's day 15 observad every vear orl

Options:

1. % 2nd July
> % 27th July
3.9 1st July
4. % 27th June

Question Number : 68 Question Id : 5459276532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Fitrea fead 5T e ______ T HATAT AT &1

Options:

1. % 2
2 ® 27 AR
3 v 1 AE

4 % 275

Question Number : 69 Question Id : 5459276533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was appointed as president of World Bank in April, 20197

Options:

1. % David Malpass
Z % anshula Kant
2. # Jim Yong Kim
4. % Ivanka Trurmp

Question Number : 69 Question Id : 5459276533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 2019 H, 75 ave o @7 eregy Fgw o mar g7

Options:

1. ¢ == weme
2 R SISEATF
3. % om i e
4. % zET I



Question Number : 70 Question Id : 5459276534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Lessons Life Taught Me Unknowingly” is an autobiography of which actor?

Options:

1. ¥ Boney Kapoor
Z ¥ Anupam Kher
3. % Rishi Kapoor
4. % Rakesh Roshan

Question Number : 70 Question Id : 5459276534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
" AR 21e HI SFTETAT e ST ST STTeH®e 57

Options:

Question Number : 71 Question Id : 5459276535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fussia honored ______ in 2019 with 'Order of 5t Andrew the Apostle'
Options:

1. % Narendra Modi

Z. % Venlkaiah Naidu

2. # Pivush Goval

4. % Raj Math Kovind

Question Number : 71 Question Id : 5459276535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 20190 I 'HET AUTE HE U5 T THieee o GFaT-Id feam

Options:

1. ¥ T aEr

2 % ddmamg
z. % i e

4. ¥ I 91T FH

Question Number : 72 Question Id : 5459276536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which actor was awarded the Dadasahel Phalke dward 20157

Options:
1. # Anupam Kher
2. % Vinod Khanna

2. % Sanjav Dutt



4. % Amitabh Bachchan

Question Number : 72 Question Id : 5459276536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T SITEET T 2018 TIST Aled Bieth QLR & FRAT-T T2 7T 917

Options:

1. % arum
2. ¥ et | gr
3 % g

4, ¥ fEaT age

Question Number : 73 Question Id : 5459276537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The nowel "WMilloran® 15 written by

Options:
1. # Salman Fushdie

2. % Anna Burns

3. * Kiran Desai
4. % arundhati Roy

Question Number : 73 Question Id : 5459276537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T IO BT ot T
Options:

1. % goAm Bt

o ¥ TATE

z. ® T dEn

4. % sy

Question Number : 74 Question Id : 5459276538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Allocation of seats in the Council of States is included in which Schedule of Indian Constitution?

Options:

1. % Fourth Schedule
2. ® HMinth Schedule
3. # Tenth Schedule

4. % Second Schedule

Question Number : 74 Question Id : 5459276538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W 120 AT &1 T et | T & uivag § w1 & rmee &7 Jrod 27
Options:

1. ot argaelt

2 % Fdf ergagt



3. % ZEdf oy
4. % Zull srgeEn

Question Number : 75 Question Id : 5459276539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Emergency Provisions are contained in which Part of the Constitution of India?

Options:

1. % Part]

2. % Part ¥

3. % Part ¥VIII

4. % Part ¥X

Question Number : 75 Question Id : 5459276539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e AT o Gl & g 9 # g7 7

Options:

1. % w7l

2 % 9

3. ¥ A EVIII
4 % g EE

Question Number : 76 Question Id : 5459276540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Through which armendrment act municipalities were introduced in India®?

Options:

1. #* 52nd Amendment Act, 1955
2. % 74th Amendment Act, 1992
3. % 70th Amendment Act, 1332

4. % £3rd Amendment Act, 1986

Question Number : 76 Question Id : 5459276540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Harter ey 3 O o qRT ¥ ATRATcreRTl T g e oty

Options:

1. % 52 a7 Haree ST, 1985
2. ¥ 74 I7 gar ateieaE, 1992
3. % 70 97 Fare SrEEE, 1992
4. ¥ 53 g7 g ATEEaE, 1986

Question Number : 77 Question Id : 5459276541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Article 42 of the Indian Constitution deals with?

Options:
1. % Provisions for just and hurmane conditions of work and maternity relief.



2. % Uniform civil code for the citizen.
3. % Protection of life and personal liberty.

4. # Fundamental rights

Question Number : 77 Question Id : 5459276541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WA 17 Hire %7 aifedg 42 o gaied 87

Options:

1. & T &~ A A e et T T W SEaT o S
2. ® it & o0 U A Eiee digar

=, % g o 25T Tad 39T W Ty

4 % g AT

Question Number : 78 Question Id : 5459276542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany medals did India win in the 2018 Corrnonwealth Games?

Options:
1. % 52
2. % B0
3. v BB
4 % 73

Question Number : 78 Question Id : 5459276542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
B T 2018 # ard o g g Sird 27

Options:
1. # 52
= % B0
3. ¥ EB
4 % 73

Question Number : 79 Question Id : 5459276543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pair of player - game is not correct?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. Saina Nehwmal - Badminton

2. Vikas Krishan - Boxing

2 Sharath Karmal - Tennis

4. Hussarmaddin Moharmmed - Hockey

Question Number : 79 Question Id : 5459276543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TraTeraT § & FEEET - W %1 F 9 91 g0 qEl 78 57

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. |TEAT S5 AT - dEfHeT

2. T g - aTiEaT

3. IR FAA - T

4. GETYEH HIES - ET

Question Number : 80 Question Id : 5459276544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2022 Cormrmeonwealth Garnes will be held in which country?

Options:

1. # India

= % Australia
2. % England

4. % Indonesia

Question Number : 80 Question Id : 5459276544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2022 WA Sl e o H el e
Options:
1. % 9T
o R El'@ﬁ?ﬂ
3 ¥ g
4 % gEmEfam
Arithmetic Ability1
Group Number : 5
Group Id: 545927325
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrnetic Ability1
Section Id : 545927325
Section Number : 1
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927389
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459276545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(0.73) +(0.31)’
(0.73)’ —0.73%0.31+(0.31)

=
L

Options:

1.% 101
2. ¥ 104
3. % 108
4 % 214

Question Number : 81 Question Id : 5459276545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(0.73) +(0.31)’
(0.73)' —0.73%0.31+(0.31)

=
s

Options:

1.% 101
2. ¥ 104
3. % 108
4 % 214

Question Number : 82 Question Id : 5459276546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(A7+20) —(a7-30)

Options:

1. % 37.18
Z % 4218
3. % 3648
4 ¥ 2348



Question Number : 82 Question Id : 5459276546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(4.7+2.0) = (4.7-2.1)

Options:
1. % 37.18

2. % 4218
3. % 36.48
4. ¥ 3948

Question Number : 83 Question Id : 5459276547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

81 +3/0.027 + #0.0081

Jo +30.729 + 40 6561

Options:
1.%1
2. ¥z
3 % 4
4. % 1)2

Question Number : 83 Question Id : 5459276547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

81 +3/0.027 + 400081

Jo + 300,720 + 40 6561

Options:
1.%1
= W2
3% 4
4. % 1/2

Question Number : 84 Question Id : 5459276548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many numbers are there from 32 to 333 which are divisible by both 3 and 4 but not by 57

Options:
1. % 18

2 % 21
3. ¥ 20
4. % 19

Question Number : 84 Question Id : 5459276548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

32 ¥ 333 T fopa-1 6] § A1 3 TUT 4 AT 9 [T § W S | AR
Options:

1. % 18

2 % 21

3. ¥ 20

4 % 19

Question Number : 85 Question Id : 5459276549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

s g e b Lo L

30 20 42 56 72 90

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:
1.21/140
2. 23/150
Z. 21/160
!

4. 237140

Question Number : 85 Question Id : 5459276549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ilﬁ' A= i-!-i—ki ddl B = i+i+i
30 20 42 56 72 90

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:
1.21{140
2 23/150
3. 21/160
!

4. 23/140

Question Number : 86 Question Id : 5459276550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfA= 51_,_72_21 and B = 111_31_51 . then what is the value of A* +B*?
2 4. 9 5 2

4
Options:

1. % 150

2. ¥ 125

3. % 130

4. % 145

Question Number : 86 Question Id : 5459276550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

1 3 1 1 1 3 2
e A= SEJFTE_EE E B:“Z_SE_SE'HT A*+B* T A &7 %’7

Options:
1. % 150

2. ¥ 125
3. % 130
4. % 145

Question Number : 87 Question Id : 5459276551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfA=(3.1) —(2.2) and B = (22) - (3.1)"

-~
e

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.0

2 3.27

3. 9.54

4 632

Question Number : 87 Question Id : 5459276551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofE A= (3.1) —(2.2) @ur B=(22) —(3.1)’

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1.0

2 327

3 954

4 632

Question Number : 88 Question Id : 5459276552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterment(s) isfare correct?

[(2i11) > 0.3
II. (718) > 086

Options:

1. % Cnly I

2 ¥ Cnly 11

3. % Bothlandll

4 % MNeither I nor 11



Question Number : 88 Question Id : 5459276552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR # | ® I | wE w5l R

[(2i11) > 0.3
II. (718) > 086

Options:

1. % Al

2 ¥ Fadll

3. % ] qerll 3E!
4, % qUarlAararil

Question Number : 89 Question Id : 5459276553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

-
'

(5.17-2.19)" —(5.17+2.19)
11.3223

Options:
1. % 1/4
> % -1)4
3. ¥ -4
4. % 4

Question Number : 89 Question Id : 5459276553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

-
e

(5.17-2.19)" —(5.17+2.19)
11.3223

Options:
1. % 1/4
Z % -114
3.9 -4
4. % 4

Question Number : 90 Question Id : 5459276554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If}{==-1—k—1~+-l—4—_l_;ﬂuﬂ}{::£[4nl.+_l_+ 1

3 15 35 63 706 12 20

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1.32/45

2 4145

2 ZB/4E



4. =1/4=5

Question Number : 90 Question Id : 5459276554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

u’%}{:lq_i_pi_pim‘f:l_plq—i_pi
3 15 3> 163 2 6 12 .20

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1.32/45

2 4145

3 36/45

4 21745

Question Number : 91 Question Id : 5459276555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of marked price to the selling price of a article is 5 : 2. What is the discount percentage?

Options:

1. % 40 percent
2. % 60 percent
2. % 50 percent

4. # 30 percent

Question Number : 91 Question Id : 5459276555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

ek o o STichd Urd T Toehrd Grd @ 5 0 2 T 30T 51 §o Hid 9 a7 27
Options:

1. % 40 ufdeT

2. ¥ G0 nideT

3. % SO uide

4 % 30 uldad

Question Number : 92 Question Id : 5459276556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The cost price of a bat is 58 of the marked price. What will be the gain [loss percentage after allowirlg a
discount of 20% on the marked price?

Options:

1. % 16% profit
2. ® 24% profit
3. % Z24%loss
4. ¥ 16% 1055

Question Number : 92 Question Id : 5459276556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T dee B & Jrd, SIfhd Grd &1 56 71 Sifoed Urd U8 30% & gT o o WaTd | g &7 Wia 2 &7 g ImT?
Options:

1. % 168%™

2 ® 24% AN

3 % 24% ETE

4. ¥ 16% g1

Question Number : 93 Question Id : 5459276557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the sum of the average of first 19 natural numbers and the average of first € positive odd nurnbers?

Options:
1.9 18
2. % 19
2% 17
4 % 18

Question Number : 93 Question Id : 5459276557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTH 19 UTgpide aearsl & o T W 6 - TcH® oA aearsl & siad @7 I 747 37

Options:
1.9 16

2. % 19
3% 17
4 ® 13

Question Number : 94 Question Id : 5459276558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfElis 7% of B2, then B2 is what percentage of E17

Options:

1. % 11667%
2 ¥ 133 33%
=% 125%

4 % 130%

Question Number : 94 Question Id : 5459276558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e El, B2 T 75% %, a1 B2, B1 &7 a1 wid e 87

Options:

1. % 11667%
z ¥ 132 33%
2% 125%

4. ® 130%

Question Number : 95 Question Id : 5459276559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

MNurnber J is firstly increased by 40% and then it is decreased by 20%. Final value of ] is what percentage of
initial value of J7?

Options:

1. % B2 percent
2. ¥ 98 percent
I % 102 percent

4. % 104 percent

Question Number : 95 Question Id : 5459276559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T | T el 40% & S5 T47 7 & q97 o6 38 30% & 92/ @7 3T 81 ] &7 S0/ A, | & TS 7T F7 a1 nidaT 27
Options:

1. % g2 ufdeT

= ¥ 98 nideT

3 ® 102 uidsd

4 # 104 uiaaa

Question Number : 96 Question Id : 5459276560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
M1 is 30% more than M2, M2 is 50% more than M3, M2 is 40% less than M4, M1 is what percentage of M4?

Options:

1.9 117 percent
2. % 120 percent
I % B7 percent

4. # 94 percent

Question Number : 96 Question Id : 5459276560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
M1, M2 & 20% 2178w 21 M2, M2 § 50% T9F 81 M2, M4 & 40% F7 81 M1, M4 7 g nidam 27

Options:

1.9 117 uidem
2. % 130 ofdaT
3. % 57Ul
4. % 94 nideT

Question Number : 97 Question Id : 5459276561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rarn sold a table at Bs 960, On selling this table, he earned a profit of Rs 160, What is the profit percentage?

Options:

1. % 1866 percent
= % 33.33 percent
3. ¥ 20 percent

4. ® 25 percent



Question Number : 97 Question Id : 5459276561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH = 960 704 § UF B ol &N 56 B @1 e 0%, T8 160 0 T AT FAMEN AT A4 47 57

Options:

1. % 16.66 uidea
2. % 33330
3. ¥ 20 nideT

4 ® o5 oidag

Question Number : 98 Question Id : 5459276562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The selling price of an article is Bs 960 and profit earned on it is 50%. If the new profit percentage is 20%, then
what will be the selling price of the article?

Options:

1. % Es 844
2 ¥ Rs 832
3. % Rs 736

4 % Hs 743

Question Number : 98 Question Id : 5459276562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt U g @ T grd 960 FUY § T I U HHTAT =T 71 S0% B AT a7 @ Uidad 30% 8, 1 awg &7 T gr a0

Options:

1. % 544 w3
2. ¥ 532
3 % 736 T
4, % 745w

Question Number : 99 Question Id : 5459276563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Anil sells a pen at a loss of 35%. [f he had sold the pen for Ks 240 more, then he would have a loss of 20%. To
gain profit of 40%, what should be the selling price of the pen?

Options:

1. * Rs 2460
2. % Rs 3240
3. ¥ Rs 2240

4 % Hs5 2340

Question Number : 99 Question Id : 5459276563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

STTF U FetH 1 35% ST 5111 U <ieldT 21 die 6 Feld ®1 240 S0 T899 § <=7 5147, 97 69 20% & 51 g1dn 40% FT #79
T % oI, oA 7 TR O 97T 5 4T aTieg?

Options:




1. % 2460 T
2 % 3240 T
3. ¥ 2240 T
4, ® 2340 w4

Question Number : 100 Question Id : 5459276564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of age of two person & and Eis 3 : 4. If the sum of their ages is 56, then what is the age of E?

Options:
1. % 24 vyears

2. % 36 vears
3. % 22 years
4. 9 32 vears

Question Number : 100 Question Id : 5459276564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A TATE 3T ekl &1 T 7 01T 3 4 &, Tig S9! A= FTAMEE 8, 1B &1 g Fa7 87

Options:

1. % 2499
2 % 35 e
3 % ooad
4 o 30
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Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
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Number of Questionsto be attempted:
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Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927390
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459276565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The salaries of P, Q and R are in the ratio 3 : & : 8. If their salaries are increased by 20%, 20% and 5%
respectively, then what will be the ratio of their increased salaries?

Options:

1. ¥z 5.7
2. % 1:2:4
3% 3:6:8
4 % 1:4:7

Question Number : 101 Question Id : 5459276565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P, Q@MTPR T ST T SO 3 : 50 8 §1 Al ek T ST HHSk 20%, 20% TUT 5% & STl A, T7 ITeh! el T8 ST BT STume
T BT

Options:

1L.¥ 257
2% 1:2:4
I % D68
4 % 1:4:7

Question Number : 102 Question Id : 5459276566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& bag contains Rs 420 in the form of 5 rupee, 2 rupee and 1 rupee coins. The number of coins of 5 rupee, 2
rupee and 1 rupee are in the ratio of 2 : 2 : 5. What is the total number of coins in the bag?

Options:

1. % 250
2. % 240
2% 200
4. % 260

Question Number : 102 Question Id : 5459276566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Aol H 420 309, 5 304, 2 304, 797 1 #0 & Mgl r ® U H 81 S 3, 2 703, T L e F gl EE e agua 2 30 5
21 el o e Tora T T 87

Options:
1. % ZE0

2. % 240
2% 200
4. % 260



Question Number : 103 Question 1d : 5459276567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Es 6000 becomes Es 8240 in K vears at simple interest. [f rate of interest is 13% per annuim, then what is the
value of K7

Options:
1. % 4
z ¥ 3
3% 5
4 ® 2

Question Number : 103 Question Id : 5459276567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR 7 0T G000 T K. aui # 5340 0 57 A 51 Ife =0 & g€ 13% 0id a9 2, a7 K & AT a7 57

Options:
1. % 4
2 ¥ 3
3. %5
4 % 2

Question Number : 104 Question Id : 5459276568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20000 0 @ 2 wﬁﬁmwmu?wwg T T 1 3% Wich oI el ¢ & T 19T § 0T gae A1 i 15% uid & i
X H T R Al 3 T T Fe w4 6480 FULA g, T ST W BT T FAT 57

Options:

1. % 16000 0, 5000 70
2. % 14000 ¥, 6000 70
3. ¥ 12000 70, 8000 704

4 % 10000 F0F, 10000 T

Question Number : 104 Question Id : 5459276568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Es 20000 are kept at simple interest in 2 parts. One part is kept at a rate of 8% per annum and the other part
iz kept at a rate of 15% per annurmn If the total interest for 2 vears is Bs £480, then what is the value of the 2
parts?

Options:

1. % Es 16000, Es 5000
2. % Rs 14000, Rs 6000
2. % Es 12000, Es 2000
4 % Rs 10000, Bs 10000

Question Number : 105 Question 1d : 5459276569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sum of money becomes Bs 39930 in 3 yvears and Rs Z6200 in 2 years when kept at compound interest
icompounding annually). What 15 the sum?



Options:

1. % Rs 34000
= % Rs 32000
3. % Rs 28000
4. % Es 30000

Question Number : 105 Question Id : 5459276569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATy, ST (TR TN T T A UL, Tef 24T 5 a9t °§ 39930 o080 397 2 961 § 36300 T4 5T AR 51 0T &7 57

Options:

1. % 34000 70
2. % 32000 70
3. % 2E000 T
4. % 30000 704

Question Number : 106 Question Id : 5459276570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The speed of a boat in still water is 18 km/hr. If the speed of stream is 4 km/fhr, then how much time will it
talee to cover a distance of 44 km in downstream?

Options:

1. ®¥ Shours
2 % 4 hours
2. % 2 hours
4. % 2 hours

Question Number : 106 Question Id : 5459276570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e =ATel T 1T 60 ofe & 18 Tepail. [ eT 81 oie eI ol Mid 4 Top a1, (52T §, 97 R0 & aigdel 44 T ol &1 Uw g @ o o |
a5 T =T FH #T?

Options:

1. % 52
o % o4
3 % zEr
4 ¥ 2HE

Question Number : 107 Question Id : 5459276571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& bus is travelling at the speed of 81 kmihr. How much time will the bus take to cover a distance of 912 km?

Options:

1. % 270 seconds
Z % 200 seconds
3. % 180 seconds
4. % 240 seconds



Question Number : 107 Question Id : 5459276571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T g 81 T AT (T T W = g1 R 92 TR AT gy ol T @ # o T e e

Options:
1. % 270 ¥@r=

= & 200 Oag
Iz ® 150 99
4 ® a0 gz

Question Number : 108 Question Id : 5459276572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A car has to travel 250 kimin 30 hours. It covers 175 part of the journey in 16 tirme. What should be its spesd
for the remaining journey to reach on tirme?

Options:

1. % 8 kmjhr
2. % 10 km/hr
2 % 12 km/hr
4 % 15 km/hr

Question Number : 108 Question Id : 5459276572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TSl BT 30 6 o 250 T Al A1 BT §1 g AT 15 9T 16 qHa § [ w1 WHd W U o oy 39 el gE AT
feper TR & AT g S &=

Options:
1. ¥ g T Atjeer

2. % 10 fp At =
z. % 12 WF AT
4 % 15 fp Aty EeT

Question Number : 109 Question Id : 5459276573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YVikram's efficiency is 200% of Kushal's efficiency. If Vikram can complete a piece of work in 100 hours, then
how rmuch time will they take working together to cormplete the same work?

Options:

1. # 45 hours
2. % 50 hours
2. % G0 hours
4. % 75 hours

Question Number : 109 Question Id : 5459276573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T <hT &FATTT, TR hT SHAT T 300% 31 A1 T Tof @1 @i 100 O H ¢ AT 5, 1 o IHT 14 Pl TRY FES FY G oo |
TeraIT FA A7

Options:

1. % 45 g¢



> % oowgr
z % g0
4 ¥ 7S EL

Question Number : 110 Question Id : 5459276574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

100 men can make 60 chairs in 4 days working 2 hours a day. How many men are required to make 120
chairs in 10 days working 4 hours a day?

Options:

1. % ZEmen
2. % Z0men
2. ¥ 40 men

4. % 34 men

Question Number : 110 Question Id : 5459276574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
é??qg 4ﬁg?ﬁwﬁﬁ?2ﬁ%mmeagrﬁﬁﬁamm%ﬁ 10 e 7 ufdfem 4 ¢ o7 e 120 FIEaT a9 & T foras
ELIGICE

Options:

1. % 2875
2% 300
3 ¥ 40 gEy
4 ® 24079

Question Number : 111 Question Id : 5459276575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A can complete a work alone in 8 days. B can complete the same work alone in 12 days. C alone complete the
same work in 16 days. They cornplete the work in 2 days with the help of D. If they get Bs 12000 for the work,
then how much money does the D get?

Options:

1. % Rs 2500
2. % Rs 2750
3. ¥ Rs 2250

4. % Hs5 2000

Question Number : 111 Question Id : 5459276575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A UF T F1 25T 5 Tod § &7 G@Far 81 B 39T &1 @1 27T 12 ﬁ——rﬂ‘aﬁmgc FHT & &1 21T 16 T H & 9T 2
D & AT © 95 & @ 2 fod # =on o g9 81 9ig 398 12000 703 fied 8 91 D %1 g o e

Options:

1. % 2500 T
2. ® 2750 T
3. ¥ 2050 T
4, % 3000 T



Question Number : 112 Question Id : 5459276576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The length, breadth and height of a cuboid is 12 cm, 9 cmand 2 crm respectively. What is the length of the
longest diagonal of the cuboid?

Options:

1. % 16cm
2. % 145cm
2% 13cm

4 % 17 cm

Question Number : 112 Question Id : 5459276576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U TATH F AFaTe, TS q9T 4=l 12 98T, 9 5.0 97 8 #.07. 21 U9 & Ha ofvel [@ & ovaTs #4727

Options:

1. % 16 &4
2 % 1459
3 % 139
4 & 17 §AT

Question Number : 113 Question Id : 5459276577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two cubes each of edge 24 cm are combined to form a single cuboid. What is the wolurme of the new cuboid?

Options:
| % 25678 cm’

o 27648 cm-

5 % 13824 cm?

L% 17688 cm?

Question Number : 113 Question 1d : 5459276577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST O, Feh! B T 24 WAL B, W ETE Wk U ST ST AT g1 7 AT T ST a4 87

Options:

25678 A2

1. =

- 27648 T.HY2



L 13824 AL

L, % 17668 W.HT2

Question Number : 114 Question 1d : 5459276578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A square is room is surrounded by a passage of width 4 metres as shown in the figure. If the area of the
passage is 128 m?, then what is the area of the room?

Passage

Room

Options:

24 m?
% J6m-

« 64 m?

Question Number : 114 Question Id : 5459276578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TH TNFR FAT 4 AT 92 v 2 ® AU g o o & &3%a 128 Aew g FAY
FT ST FT §7

IEAT

HAT

Options:

1.9



Question Number : 115 Question Id : 5459276579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart given below shows the nurmber of movies released on different weekends of a month. The
number is shown as a percentage of total movies released in the month.

If the total nurmber of movies released in the rmonth are 200, then the number of movies released in W4 is how
rmmch more than the movies released in Wl

Options:
1. %8
Z w12
3. ¥ 18
4, % 20

Question Number : 115 Question Id : 5459276579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tem v o o A o Tl waT @ e O Odiee TOhent S EEar w gaidr 8 SEar w, U URi H Oes F ed]
Widar & &0 | gartar T 81

e

W1,
12% 7\,

~
! w3, /
N W4, ‘| 19% /
o o
\\? = | /

o

%ﬁwnﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁfﬁwﬁwzoo %, a1 w4 o Uslez hent &t g wl § Uz el &t dear & fadt arfdes

Options:
1. ¥ 8
2 % 12
3. ¥ 18
4. % 20



Question Number : 116 Question Id : 5459276580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart given below shows the expenses of family on different things. The expenses are showrl as a
percentage of total expenses of the family.

ol o .
12% | 12%

26% : 22%

T3, v
N 8% 7

Wwhat is the difference in central angle made by sector for T1 and T37
Options:

1. ¥ 576"

= ® B7E°

3% F7E"

4. # Z7E6°

Question Number : 116 Question Id : 5459276580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tz T g o Ty aegert o OiaR o @ @ 2T B Sl @1 UG & Pl el o e ad o &0 5 gt T gl

s - [
12% | 12%

T3,
by 8% g

T1TUTT 3 & | T a1 T2 e 1 F107 § SF% 747 57
Options:

1. ¥ 576"

o ® gree

3 % 77B"

4. % 76"

Question Number : 117 Question Id : 5459276581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of questions in different sets.

Set Number of questions
51 54
52 56
S3 60
54 62
55 66
S6 72

The number of questions in set 1 is how rmuch percent less than the number of questions in set 47
Options:

1. % 10.9 percent

2 ¥ 12 9 percent

% % 14 9 percent

4 # 0169

Question Number : 117 Question Id : 5459276581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Te T aTieeT g g | megt T aEar o i 8

2 weAT #HT TEAT
S1 54
S2 56
S3 60
S4 62
S5 66
S6 72

de 1 o wegt &t dar 1T 4 | wat & wen | e aidad &7 27
Options:

1. % 10.9 uidea

o ¥ 12 9udaT

3 % 14 9 uidaT

4 ® 16 9uidad

Question Number : 118 Question Id : 5459276582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the marks obtained by a student in different subjects.

120 4
B 99

1004, 9% g 56 2 88 n A
80 - 0
60 -
40
20 1
0 | — | e 'rr L B T T 1

51 S2 83 54 55 86 ST S8 89510

Subjecis

Marks

What are the dverage rarks obtained b}.? studernt Fer Subject?
Options:

1. % 527

o % 5847

3 ¥ E6.7

4 ® 577

Question Number : 118 Question Id : 5459276582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
At Team T gue T By Tt # v o173 gy o st @ AT 81

120 - 5
] o0 92 .
lzg 0 o 84 86 - 88 o

.g 60 4
40 4
20 4
D T T T T T T T T T 1

51 S2 83 54 55 S6 ST S8 59510

fare

id Terer a7 &7 Wi &feT & 7 87
Options:

1. % 527

o % 547

= ¥ 867

4 ® 577

Question Number : 119 Question Id : 5459276583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the nurmber of female employees in different cormpanies.

120 1 1z 106 ],L4 ”_: 108
100 4 32
80
60 -
40 -
20 4

gl

MNum ber of Tem ale em ployees

Cl € C O C G 7

Company

The number of fernale employess in C7 is how much percent more than the fernale employees in C57

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. 01739

2 02039

3 02339

4 02839

Question Number : 119 Question Id : 5459276583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tz T gre R g et O Atar st @ awear # gatar al

!1; 120 1005 106 1 12 108

‘. £l

0 T T T - T 1
Cl € 3 C4 G C6 C7

AT

7 3 AieT aait T EET S # BT wwaTRet & R v s

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.0.1739

2 0.2039

3. 0.2339

4. 02839

Question Number : 120 Question Id : 5459276584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of rotis made by a rotirnaker in a hotel on different days.

1400 -
1200 -
1000 1
800
600
400 1
200

Mum ber of Rotis

12196

1148
1024 1000 __r/"/f‘

- _..,,--"”_-'_ T
_ 1096

m 2 D3 DM

Days

L3

The rotis made on DS 15 what percent more than the rotis made on D17

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 01556

2 02258
2. 02458
4. 0.2ESE

Question Number : 120 Question Id : 5459276584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SR o T T T T Tt o U gied # TR e gRT e T TR ST @ gaiar Bl
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D5 o e=Tt Tt TEtet D1 o et weit Ot | fora wida arfder g7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 01556
2. 02256
3. 0.2456
4 02656

eneral Englishl



Group Number : 7

Group Id : 545927327
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral Englishl

Section Id : 545027327

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 545927391
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5459276585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

The teacher (1) | said that he (2) | was busy then (3) | No error (4)
Options:
1.%1
2. % 2
3% 3
4. ¥ 4

Question Number : 121 Question Id : 5459276585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The teacher (1) | said that he (2) | was busy then (3) [ No error (4)
Options:
1.% 1
2. %2
=% 3



4. ¥ 4

Question Number : 122 Question Id : 5459276586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Rama told the (1) 1 girl that he kncw (23 | her and her aunt (3) [ No error (4)
Options:
1.% 1
2. V2
3% 3
4 % 4

Question Number : 122 Question Id : 5459276586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Rama told the (1) | girl that he know (2) | her and her aunt (2) [ No error (4)
Options:
1.% 1
2. V2
3% 3
4 % 4

Question Number : 123 Question Id : 5459276587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose ‘MNo error’.

I told the boys (1) § that they should (2) [ do ours duty (30 | Mo error (4)
Options:
1.%1
2. w2
2V 3
4 % 4

Question Number : 123 Question Id : 5459276587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

I told the boys (1) | that they should (2) | do ours duty (3) | No error (4)
Options:
1.% 1
2. % 2
2V 3
4 % 4



Question Number : 124 Question Id : 5459276588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

She did not (1) | tell e what (2) | her plans are (3) | No error (4)
Options:
1.% 1
2. %2
R
4 % 4

Question Number : 124 Question 1d : 5459276588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She did not (1) | tell e what (2) | her plans are (3) | Mo error (4)
Options:
1.% 1
2. %2
2V 3
4 % 4

Question Number : 125 Question Id : 5459276589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The master taught (1) the boys that (2) | honesty was the best policy (33 [ No error (4)
Options:
1.%1
2. % 2
2V 3
4 % 4

Question Number : 125 Question Id : 5459276589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The master taught (1) the boys that (2) [ honesty was the best policy (3) [ No error (4)
Options:
1.% 1
2. %2
R
4 % 4

Question Number : 126 Question Id : 5459276590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

Eonded labour (has been) now almost a thing of the past.
Options:

1. * had been

2. ® yas

3. ¥ is

4. % Mo Improvement

Question Number : 126 Question Id : 5459276590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Eonded labour thas been) now almost a thing of the past.
Options:

1. % had been

= % ymas

3. ¥ i3

4. % No Improverment

Question Number : 127 Question Id : 5459276591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

{Their) shoes are mine.
Options:

1. ¥ Those

2. ® That

2. ® Them

4. % No Improvermnent

Question Number : 127 Question 1d : 5459276591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

(Their) shoes are rmines.
Options:
1. ¥ Those

2. % That
= % Themn

4. # Mo Improvermnent

Question Number : 128 Question Id : 5459276592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The stranger asked the little girl (what her name was).



Options:

1. # what is her name
2. % what her name is
% % what was her name

4. ¥ No [mproverment

Question Number : 128 Question Id : 5459276592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence,

The stranger asked the little girl fwhat her name was).
Options:

1. % what is her name

2. % what her name is

3. % what was her name

4. % No Improvermnent

Question Number : 129 Question Id : 5459276593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are abstained (to spealk) ill of others.

Options:

1. # to speaking

2. % of speak

2. ¥ from speaking
4. % Mo Improvernent

Question Number : 129 Question Id : 5459276593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are abstained (o speal) ill of others.

Options:

1. % to speaking

2. % of speak

2. ¥ from speaking

4. % Mo Improvermnent

Question Number : 130 Question Id : 5459276594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

He {works hard) succeeds.
Options:

1. ¥ who works hard

2. % work hard

= ® who will work hard

4. % No Improverent



Question Number : 130 Question Id : 5459276594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

He (works hard) succeads.
Options:

1. % who works hard

2. % work hard

2 % who will work hard

4. % Mo [mprovernernt

Question Number : 131 Question Id : 5459276595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

This boy 15 stronger ______ Harsh.
Options:

1. % then

2. % that

2. ¥ than

4 % this

Question Number : 131 Question Id : 5459276595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

This boy 15 stronger ______ Harsh.

Options:
1. % then

2. % that
= ¥ than
4 % this

Question Number : 132 Question 1d : 5459276596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He comes here day.

Options:
1. ¥ every

2% gl
3. % few

4 % much

Question Number : 132 Question Id : 5459276596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

He cormes here ______ day.

Options:
1. ¥ every

% 3l
3 % fow

4 % much

Question Number : 133 Question 1d : 5459276597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The child fell ______ from a great height.
Options:

1. % up

2. ¥ down

2. % over

4. % under

Question Number : 133 Question Id : 5459276597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The child fell ______ frorm a great height.
Options:

1. % up

z ¥ dowrn

2% over

4. % ynder

Question Number : 134 Question Id : 5459276598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Every mrian has ______ duties.
Options:

1. * himself

2. % him

3. ¥ his

4 % her

Question Number : 134 Question 1d : 5459276598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Every man has duties.

Options:

1. * himself
2. % him

3. ¥ his

4 % her

Question Number : 135 Question Id : 5459276599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

[hate ______ things.
Options:

1. ®* each

2. % ayery

2. ¥ such

4 % 3l

Question Number : 135 Question Id : 5459276599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

IThate ______ things.

Options:
1. % each

2. % eyery
3. ¥ such
4. % all

Question Number : 136 Question Id : 5459276600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

o 110 Serse.

Options:
1. * has

2. % gre
3. % yere
4 % hawve

Question Number : 136 Question Id : 5459276600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

o 10 Serse.



Options:
1. ®% has
2. % are
2% yeere
4. ¥ have

Question Number : 137 Question Id : 5459276601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The father showed ______ patience.
Options:

1. % few

= % much

3% any

4. % whole

Question Number : 137 Question Id : 5459276601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The father showed ______ patience.

Options:
1. % few

2 % rmch
2. % any
4. % whole

Question Number : 138 Question Id : 5459276602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He did noteat ______ rice.

Options:
1. % any

2% no
3. % several

4. st

Question Number : 138 Question Id : 5459276602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Hedidnoteat ______ rice.

Options:
1. ¥ any



2% no
3. % several

4. % must

Question Number : 139 Question Id : 5459276603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: the journey towards
i landing o the rmoon
E: the moon was more
5. thrilling than the

Options:

1. % PORS
2. % SROF
2. % SORP
4, % PR

Question Number : 139 Question Id : 5459276603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: the journey towards
2 landing o the moon
E: the moon was more
5: thrilling than the

Options:

1. % PORS
2. % SROP
2. % SORP
4 % FR5SQ

Question Number : 140 Question Id : 5459276604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. COut of the four options giver, select the most logical
order of the sentences to form a coherent paragraph.

F: said that more things

) therefore it is rightly

E: the world of dreams

S: are wrought by prayer than

Options:

1. ¥ QPSR
2. % PORS
I % SROP
4 % QRSP



Question Number : 140 Question Id : 5459276604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: said that more things

) therefore it is rightly

E: the world of dreams

S: are wrought by prayer than

Options:

1. ¥ QFSR

2. % PORES

3. % SRGQFP

4. % QRSP
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Question Number : 141 Question Id : 5459276605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: human life is a tale of errors and follies.

& wre all cormmit errors and mistakes out of ignorance or inexperience

E: nobody is infallible.

5. in the process of acquiring experience, man often stumbles and falls down.

Options:

1. % PQRS
2. % REPQ
2 ¥ PROS
4 % PSOR

Question Number : 141 Question Id : 5459276605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

P: human life is a tale of errors and follies.

& we all cormrnit errors and mistakes out of ignorance or inexperience

E: nobody is infallible.

S:in the process of acquiring experience, man often sturmbles and falls dow.

Options:

1. % PQORS
2. % REPQ
2. ¥ PROS
4 % PSOR

Question Number : 142 Question Id : 5459276606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Abnormal
Options:

1. ¢ Strange

2. % DMormal

3. % Conforming
4. % Typical

Question Number : 142 Question Id : 5459276606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

Abnormal
Options:

1. % Strange
2. % MNormal

2. % Conforming



4. ® Tvpical

Question Number : 143 Question Id : 5459276607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Persist

Options:

1. ® Dermur

= % Falter

3. % Dismantle
4. ¥ Ceaze

Question Number : 143 Question 1d : 5459276607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Persist

Options:

1. % Derrur

2. % Falter

2. % Disrnantle
4 ¥ Cease

Question Number : 144 Question Id : 5459276608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the given word.

Feud

Options:

1. ® Harmony
2. % Peace

2. % Calmness
4. ¥ Strife

Question Number : 144 Question Id : 5459276608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Feud

Options:

1. ® Harmony
= % Peace

3. % Calmness
4. ¥ Strife



Question Number : 145 Question Id : 5459276609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Appetizing
Options:

1. # Tedious
2. % Repulsive
2. ¥ Fleasing
4. % Melting

Question Number : 145 Question 1d : 5459276609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Appetizing
Options:

1. * Tedious
2. * Repulsive
2. ¥ Fleasing
4. # Melting

Question Number : 146 Question Id : 5459276610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Deceit

Options:

1. ¥ Honesty
Z % Fraud

3. # Treachery
4. % Hatred

Question Number : 146 Question Id : 5459276610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Decait

Options:

1. ¥ Honesty
2. % Fraud

2. #® Treachery
4. % Hatred

Question Number : 147 Question 1d : 5459276611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Concinse

Z. % Concince

3. # Caunscience

4 ¥ Conscience

Question Number : 147 Question Id : 5459276611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. # Concinse

2. ® Concince

3. # Caunscience

4 % Conscience

Question Number : 148 Question Id : 5459276612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ¥ Definitely
= % Definately
2. # Definitly
4. % Definitaly

Question Number : 148 Question Id : 5459276612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. ¥ Definitely
Z. % Definately
3. % Definitly
4. % Definitaly

Question Number : 149 Question Id : 5459276613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:
1. % Exhilerate

2 % avhilerate



2. % Exhilarate

4 % Exhelerate

Question Number : 149 Question Id : 5459276613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ® Exhilerate
= % Axhilerate
3. ¥ Exhilarate

4. % Exhelerate

Question Number : 150 Question Id : 5459276614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | FPhrase.

In no time
Options:

1. # Tasteless
= ¥ Yery soon
2. % Dominating

4 % In search of

Question Number : 150 Question Id : 5459276614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Il o tirne
Options:

1. ® Tasteless
2. ¥ Very soon
3. % Dominating

4 % In search of

Question Number : 151 Question Id : 5459276615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom {Phrase.

Ina fix

Options:

1. * With all one’s energy
= % Definitely

2. # Inan indirect way



4. ¥ In a difficult position

Question Number : 151 Question Id : 5459276615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Ina fix

Options:

1. * Wwith all one’s energy
= % Definitely

2. % Inan indirect way

4. % In a difficult position

Question Number : 152 Question 1d : 5459276616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

In the prime of life

Options:

1. ¥ In the best period of life
2. % Elood relations

3. % In writing

4. ® At opern enrmity

Question Number : 152 Question Id : 5459276616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

In the prime of life

Options:

1. % In the best period of life
Z % Elood relations

2. # In writing

4. % At Open enrmity

Question Number : 153 Question Id : 5459276617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Release someone from duty or obligation
Options:

1. % Appointrment

2. # Promotion

2. % Exonerate



4. % Joining

Question Number : 153 Question Id : 5459276617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Release someons from duty or obligation
Options:

1. ® Appointrnent

= % Promotion

3. ¥ Exonerate

4. % Joining

Question Number : 154 Question Id : 5459276618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

The arrangerment of events in order of their occurrence
Options:

1. ¥ Chronology

2. % Anecdote

2. % Randormly

4 % Blasphemy

Question Number : 154 Question Id : 5459276618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

The arrangement of events in order of their occurrence
Options:

1. % Chronology

2. % Anecdote

2. % Randomly

4. % Elasphemy

Question Number : 155 Question Id : 5459276619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Certain to happen
Options:

1. * Distant

= ¥ Inevitable

3. % Infallible

4. % Indelible



Question Number : 155 Question Id : 5459276619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Zertain to happen
Options:
1. % Distant

o % Inevitable
= # Infallible
4 # Indelible

Sub-Section Number: 2
Sub-Section Id: 545927393
Question Shuffling Allowed : Yes

Question Id : 5459276620 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

There are two main approaches to the understanding of the new ethnic phenomenorn. The pre-mordialist
approach to ethnicity and ethnic identities considers cormmon descent activated rmore easily than rational
principles and organization founded upon them. The other approach is variously known as situational,
subijectivist, or instrurmental. [ts main emphasis is on group mernbers perceptions of being different from
others and on the implications of this for that group's present status or predicament and for its prospects for
the future.

These contending approaches are an aid to an explication of issues and to the undertaking of contemporary
reality but they do not offer any final answers. They are often no more then exercises in the reconstruction of
the past; the definition and redefinition of the situations to explain the present and stratagerns and strategies
for achieving the desired future. Ethnicity transcends the known boundaries of state, religion, sect, and class.
It seeks to fragment established nationalities and cormrmunities and create a new one using ethnic indicators. It
involves syrmbols —old a5 well a5 newly created- and their manipalation by competing elites.

The symbolic and cultural aspects of ethnicity are important in themselves; and they often get politicized
because, in the final analysis, most ethnic conflicts are demands for a larger share of econormic resources and
products, and for a greater part in decision-making processes. Given identities can be questioned by
individuals and groups, and their actions can result in the formation of new identities and symbaol systerms
associated with the articulation of new interests. Ethnicity may thus lead to the redefinition of Social and
cultural boundaries. Ethnic aspirations and urges hawve a quick silver quality, they need to be consistent and
firm. This is explained by the quality of leadership of several ethnic moverments. & section of the established
elite Ay be behind therr, but the elite can be pushed aside and the leadershup taken over by armns wielding
elements of diverse origins.

Sub questions

Question Number : 156 Question Id : 5459276621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How do ethnic ideclogies help in the propagation of inequalities?

Options:

1. * Through the conderrmation of cleansing programmes

2. % Agreeing to mAke COmpromises over the contested territory
Z ® Bothaandb

4. % Mo option is correct



Question Number : 157 Question 1d : 5459276622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The problems posed by the phenomenon of ethnicity can be solved by:

Options:

1. ®¥ Propagating nationalism which seeks to absorb sub-nationalism and micro-nationalism
2. ¥ Isolating ethnic group within a wide cultural spectrurm

3. ¥ Advocating cultural pluralism which stabilizes the prevailing cultural situation

4. ® Identifying with assimilation and homogenisation of diverse groups

Question Number : 158 Question Id : 5459276623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following approaches provide an understanding of the new ethnic phenomena?

Options:
1. ¥ The primordial approach o ethnicity and ethnic-identities

2. % The situational, subjectivist or instrumental that is based on member's perception of being different
from others

z % Bothaandb

4. % Mo option is correct

Question Number : 159 Question Id : 5459276624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author shows how ethnicity transcends known boundaries and fragments nationalities by:

Options:

1. \ 4 The formation of new identities and S}.FI'HDOIS which help in the articulation of new interests
2. % Taking a consistent and firm stand on ethnic issues

3. # By clinging to old ethnic indicators only

4. % Mo option is correct

Question Number : 160 Question Id : 5459276625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why ethnicity needs a quality leadershup?

Options:

1. % 4 quality leadership can check the arms rebellion within
2. ® Leadership does ot have daIy role il ethnic moverrent
T % Bothaandb

4. % Mo option is correct

Question Id : 5459276620 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label | Comprehension



Read the following information carefully and answer the given questions.

There are two main approaches to the understanding of the new ethnic phenomenorn. The pre-mordialist
approach to ethnicity and ethnic identities considers cormmon descent activated rmore easily than rational
principles and organization founded upon them. The other approach is variously known as situational,
subijectivist, or instrurmental. [ts main emphasis is on group mernbers perceptions of being different from
others and on the implications of this for that group's present status or predicament and for its prospects for
the future.

These contending approaches are an aid to an explication of issues and to the undertaking of contemporary
reality but they do not offer any final answers. They are often no more then exercises in the reconstruction of
the past; the definition and redefinition of the situations to explain the present and stratagerns and strategies
for achieving the desired future. Ethnicity transcends the known boundaries of state, religion, sect, and class.
It seeks to fragment established nationalities and cormrmunities and create a new one using ethnic indicators. It
involves syrmbols —old a5 well a5 newly created- and their manipalation by competing elites.

The symbolic and cultural aspects of ethnicity are important in themselves; and they often get politicized
because, in the final analysis, most ethnic conflicts are demands for a larger share of econormic resources and
products, and for a greater part in decision-making processes. Given identities can be questioned by
individuals and groups, and their actions can result in the formation of new identities and symbaol systerms
associated with the articulation of new interests. Ethnicity may thus lead to the redefinition of Social and
cultural boundaries. Ethnic aspirations and urges hawve a quick silver quality, they need to be consistent and
firm. This is explained by the quality of leadership of several ethnic moverments. & section of the established
elite Ay be behind therr, but the elite can be pushed aside and the leadershup taken over by armns wielding
elements of diverse origins.

Sub questions

Question Number : 156 Question Id : 5459276621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How do ethnic ideclogies help in the propagation of inequalities?

Options:

1. * Through the conderrmation of cleansing programmes

2. % Agreeing to make compromises over the contested territory
2 % EBothaandb

4.9 Mo option 15 correct

Question Number : 157 Question Id : 5459276622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The problems posed by the phenomenaon of ethnicity can be solved by:

Options:

1. * Propagating nationalism which seeks to absorb sub-nationalism and micro-naticnalism
= ¥ Isolating ethnic group within a wide cultural spectrum

3. % Advocating cultural pluralism which stabilizes the prevailing cultural situation

4. % Identifying with assimilation and homogenisation of diverse groups

Question Number : 158 Question 1d : 5459276623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following approaches provide an understanding of the new ethnic phencomena?

Options:
1. * The primordial approach to ethnicity and ethnic-identities

2. % The situational, subjectivist or instrumental that is based on member's perception of being different
from others

= % Bothaandb



4, % No option is correct

Question Number : 159 Question Id : 5459276624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author shows how ethnicity transcends known boundaries and fI‘ElgI'ﬂEHtS rnationalities by

Options:

1. ¥ The formation of new identities and symbols which help in the articulation of new interests
2. % Taking a consistent and firm stand on ethnic issues

= # By clinging to old ethnic indicators only

4. % Mo option is correct

Question Number : 160 Question Id : 5459276625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why ethnicity needs a quality leadership?

Options:

1. % A quality leadership can check the arms rebellion within
2. % Leadership does not have any role in ethnic movernent
3. % Bothaandb

4, % No option is correct

eneral Hindil

Group Number : 9
Group Id : 545927329
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindil

Section Id : 545927329
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 545927394
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5459276626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M areg # WY & & @ g i

AT
Options:

1. & & |t
2. % 3T W
3. % Tt
4. % T afEr

Question Number : 161 Question Id : 5459276626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oy Ty ateg ® ATE ¥ w7 & ugEe e

AETATE
Options:

1. & Erf At
= % arEmie |
3. ® TR
4. % o gt

Question Number : 162 Question Id : 5459276627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 s ® wega AT Fom

Bl

Options:
1% g
2 % amg
z R
4 V3%

Question Number : 162 Question 1d : 5459276627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o aee o woa AT AT

Bl

Options:
1. % g
2 % g
3 %
4 3



Question Number : 163 Question 1d : 5459276628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRTcRET § & %9 A7 Jeg IT0 To0H - TR 7T 51 57
Options:

1. % &y -wrg

2. ® g - P

2 % gl -

4, & T - T

Question Number : 163 Question Id : 5459276628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl & & #9941 Jeg I T50H - 35T BT 51 87
Options:

1. % 7y - &4

2. ® e -

z & w0l - @

4. T -

Question Number : 164 Question 1d : 5459276629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET # & B A ATaaE ST AT e 57

Options:

1. % gmdr
2. ¥ TEdr
3. ® gEA

4, ® [

Question Number : 164 Question Id : 5459276629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR § & # | S 99 g6y | @41 87

Options:

1. % FrEar
2. ¥ @
3. % AT

4. ® g

Question Number : 165 Question Id : 5459276630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta Ty e, Torey JETREOT A i

Options:
1. weramEe forar e



2. % grerare T e
= % glemmrarer e e
4 % idare e Hdw

Question Number : 165 Question Id : 5459276630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STec, TeFear IaI5e0T & A1 @i

Options:

1. & waraaraer T oo
2. ® gAaEe T T
3. % gieAmamEe T T
4. ¥ Ofdam T Edr

Question Number : 166 Question Id : 5459276631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEAET # | B AT Jeg, 70 Toog B 67
Options:

1 % ot gt

2 VIR -UR

3. % g - upd

4 % JF-39

Question Number : 166 Question Id : 5459276631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # & %9 97 68 70 Foag #1587
Options:

1. % =g - e

2 ¥ TR - T

3. % anEr - upd

4 ® 35 -39

Question Number : 167 Question Id : 5459276632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaTr T 3= g BT 35 AR TR
wH - T

Options:

1. w10 - Tetear

o % 3 - fr

Z % - g

4 ® - T



Question Number : 167 Question Id : 5459276632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta My sreg g T anf AT S

T - TH

Options:

1. & &1 - HAeET
o % - T
3. % oy - iy

4, % R - TR

Question Number : 168 Question 1d : 5459276633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRiAET § & g STCAT FT AT FAT TEATAT 57

Options:

1. qgre
2. ® geAm
3% ggen

4. % SLFETeHT

Question Number : 168 Question Id : 5459276633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraTaTT & & g SITenT =T 0 7 Tl &7
Options:

1. v qgree

2. ® ggeAr

3. % gEeHr

4. ® gguTeH

Question Number : 169 Question 1d : 5459276634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T ateg T U TaEE T A e

AT
Options:

1. % mamET
2. % Hamy
3. agy

4. % g

Question Number : 169 Question Id : 5459276634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STeg o7 TAI9dE T = @ik

LEIHE]

Options:



1. % mamET
2. ® gawEyg
3 gy
4. % HardiET

Question Number : 170 Question Id : 5459276635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeiaT & & g -t &7 o difm
Options:

1. Taw

2. % girygr

3 % gy

4. % gaamyot

Question Number : 170 Question Id : 5459276635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl o & g o941 37 =37 FRm
Options:

1.9 gaw

= % glear

3 % g

4. % mrdenf

Question Number : 171 Question Id : 5459276636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T sreg @ TEE aeg A diR

Bed
Options:

1.
2. % Frar
3 ® Fy
4. % gy

Question Number : 171 Question Id : 5459276636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T T ST @ T e T diFA

Bl
Options:
1.9 &
2. % FEr
3 %y
4 % gy



Question Number : 172 Question Id : 5459276637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr T AT | TR wT F gid dra

Options:

1. v &g
o % giET
3. % ggd
4 % g

Question Number : 172 Question 1d : 5459276637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o g A o Tl w E g drm

Options:

1. v @da
2. % gyET
3. % ggd
4 % ST

Question Number : 173 Question Id : 5459276638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEIT T aTergTaT oF 16T ST Sfeg T oo i

T vl T 5 @@ 5T

Options:

1. % arfaufg
2. % g
3. ¥ arfmiiT
4 % T

Question Number : 173 Question Id : 5459276638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o M7 AT & W0 IRIT =g @ = HiFem

Tt i 7 5 /T 5l

Options:

1. % arfavie
2. % ffge
z. ¥ sl
4 % fafanfe

Question Number : 174 Question 1d : 5459276639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



20T TIT STeg @7 U iaare T ST S

THaT
Options:

1. % OF
2. %GR
3% am
4 & g

Question Number : 174 Question Id : 5459276639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STeg o7 TAI9dE T = @ik

THaT
Options:

1. % &
2. ® FRET
3 % e
4. & g

Question Number : 175 Question Id : 5459276640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # 8 B AT eg ad-1 g T g 77

Options:

1. v e
2 % gl
3 ® argter
4 % am|T

Question Number : 175 Question Id : 5459276640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
AT & 8 ®9 97 deg ad - F P H g 77

Options:

1. s
2 % aEwr
3 % arearedr
4. % amd

Question Number : 176 Question Id : 5459276641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PrafafaT & & glea s AT
Options:

1. % Zar

2. % g

2. =T



4, & g

Question Number : 176 Question Id : 5459276641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pt & & qiee geg B AT
Options:

1. % Zar

2. % g

3. SEdT

4. & g

Question Number : 177 Question 1d : 5459276642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # & frg oo | S @7 dR1 i gel 87

Options:

1. % W gl 35 ME
2. ¥ WU 35 T

3. % gHR I I T
4, % # gl 3= TN

Question Number : 177 Question Id : 5459276642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeTad & & T areer o @7 |e e e B
Options:

1. % 0 gl 35 ME)

o ¥ gl IE T

3. ¥ AR g 95 T
4, % # gt Iz TN

Question Number : 178 Question 1d : 5459276643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT 8 & faufs 72T FRE &7 %19 97 90 T57 951 27

Options:

1. % & - g

o % - amEE
3 ¥ | o7 - rae
4 % T -FF

Question Number : 178 Question Id : 5459276643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaTaT 8 & Bvfs T w19 |7 G TE A6l 87

Options:
1. % & - g

o % @- ameEe



3. ¥ W - gy
4 % @3- 74

Question Number : 179 Question Id : 5459276644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafetaT # & o amaa # Sdara &1 wai e §7
Options:

1. ' Hi T AT 7

2. % T qETE ATen

3. % T Ty TR WA ]

4, % JFT AR A

Question Number : 179 Question Id : 5459276644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trafead & & e arerer § Fdamea @ me e 87
Options:

1. ¥ I Tt S

2 % THT [ETE AN

3. % e o T T ATE

4, ¥ JaTAE1 FAam

Question Number : 180 Question Id : 5459276645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeTy Ty e T e ST

Iie g UgdT, T aCT § I 5 Aam
Options:

1. % wragqd

2 ® guigg

Question Number : 180 Question Id : 5459276645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT T 7T T A AT

e g wgaT, a1 Wiy H S gt S
Options:

1. % smagod

2 % qiygg

2 ﬁ*’%@@ﬁ?{\‘iﬁ

4 % gigrr g



General Hindiz

Group Number : 10
Group Id : 545927330
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

general Hindiz

Section Id : 545927330

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 545927395
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5459276646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty e H Uy F 0 H g d e

EERECRE-CE
Options:

1. ¢ e oy

2 % iy

3. % g my

4 ® TEeTmE Oy

Question Number : 181 Question Id : 5459276646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr Ty aTe © Ty O € @1 agE H i

CER AR Cr
Options:
1. ¥ e ay

2 % qfuy



= ® Hacauy
4 % e vy

Question Number : 182 Question Id : 5459276647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty Ty e # I 3 S0 T TR i

a5 T T 7 |wEaT 8
Options:

1. % wamefe

o % At

3. o HyreATtE

4. % facmmeie

Question Number : 182 Question Id : 5459276647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T e # g % w0 O i

a5 AT AT T TaT 8
Options:

Question Number : 183 Question Id : 5459276648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T At § A g e 9 = Hie

Options:

1?* ey JEFC qadw! g1 MetTe T[T TH a7 0T e

2. % og Helw! g1 WA THTHT TH T 0T 21

3. % gag I5WC Aae! gf - g e 1T T a7 oiar e
4 gag I5F Aae! g1 e m o g arEm

Question Number : 183 Question 1d : 5459276648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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